
#360900 ALU STEERING BLOCKS & 7º C-HUBS - SET V2 #360900 ALU STEERING BLOCKS & 7º C-HUBS - SET V2

902310
SH M3x10

902310
SH M3x10

903306
SFH M3x6

903306
SFH M3x6

940510
BB 5x10x4

940510
BB 5x10x4

940512
BB 5x12x4

940512
BB 5x12x4

303123-K
SHIM 3x6x2

303123-K
SHIM 3x6x2

902312
SH M3x12

902312
SH M3x12

Bearing Oil
(HUDY #106230)

Bearing Oil
(HUDY #106230)

302292	 STEEL STEERING BUSHING LONG (4)    
302293	 C-HUB BUSHING COMPOSITE - V2 (4)    
303123-K	 ALU SHIM 3x6x2.0MM - BLACK (10)    
362232	 ALU C-HUB 7° RIGHT - SWISS 7075 T6  
362242	 ALU C-HUB 7° LEFT - SWISS 7075 T6      
362270	 GRAPHITE EXTENSION FOR ALU STEERING BLOCK (L+R) - 1 DOT  
362274	 GRAPHITE EXTENSION FOR ALU STEERING BLOCK (L+R) - 2 DOTS
362275	 GRAPHITE EXTENSION FOR ALU STEERING BLOCK (L+R) - 3 DOTS

302292	 STEEL STEERING BUSHING LONG (4)    
302293	 C-HUB BUSHING COMPOSITE - V2 (4)    
303123-K	 ALU SHIM 3x6x2.0MM - BLACK (10)    
362232	 ALU C-HUB 7° RIGHT - SWISS 7075 T6  
362242	 ALU C-HUB 7° LEFT - SWISS 7075 T6      
362270	 GRAPHITE EXTENSION FOR ALU STEERING BLOCK (L+R) - 1 DOT  
362274	 GRAPHITE EXTENSION FOR ALU STEERING BLOCK (L+R) - 2 DOTS
362275	 GRAPHITE EXTENSION FOR ALU STEERING BLOCK (L+R) - 3 DOTS

902312 902312903306 903306

302293 302293

362232 362232

902312 902312

303123-K 303123-K

303123-K 303123-K302292 302292

940510 940510

362260 362260
940512 940512

902310 902310
940510 940510

940512 940512

362260 362260

902310 902310

2mm 2mm

903306 903306

302292 302292362242 362242

302293 302293

NOTE 
ORIENTATION

NOTE 
ORIENTATION

NOTE 
ORIENTATION

NOTE 
ORIENTATION

NOTE 
ORIENTATION

NOTE 
ORIENTATION

2x 2x

3x12mm 3x12mm

3x10mm 3x10mm

5x12x4mm 5x12x4mm

5x10x4mm 5x10x4mm

362260	 ALU STEERING BLOCK - SWISS 7075 T6
902310	 HEX SCREW SH M3x10  (10)    
902312	 HEX SCREW SH M3x12  (10)    
903306	 HEX SCREW SFH M3x6  (10)   
940510	 BALL-BEARING 5x10x4 RUBBER SEALED - OIL (2)  
940512	 BALL-BEARING 5x12x4 RUBBER SEALED - OIL (2) 

362260	 ALU STEERING BLOCK - SWISS 7075 T6
902310	 HEX SCREW SH M3x10  (10)    
902312	 HEX SCREW SH M3x12  (10)    
903306	 HEX SCREW SFH M3x6  (10)   
940510	 BALL-BEARING 5x10x4 RUBBER SEALED - OIL (2)  
940512	 BALL-BEARING 5x12x4 RUBBER SEALED - OIL (2) 

362274-1 dot 362274-1 dot
362270-2 dots 362270-2 dots
362275-3 dots 362275-3 dots

362274-1 dot 362274-1 dot
362270-2 dots 362270-2 dots
362275-3 dots 362275-3 dots



COMBINATIONS OF ALU & COMPOSITE PARTS COMBINATIONS OF ALU & COMPOSITE PARTS

LONGER
bushing use from kit

LONGER
bushing use from kit

SHORTER
bushing use from kit

SHORTER
bushing use from kit

When inserting the bushings, make 
sure that bushings are inserted 
equally on both right and left hub to 
give the same roll center position.

When inserting the bushings, make 
sure that bushings are inserted 
equally on both right and left hub to 
give the same roll center position.

When inserting the bushings, make sure that 
bushings are inserted equally on both right and 
left hub to give the same roll center position.

When inserting the bushings, make sure that 
bushings are inserted equally on both right and 
left hub to give the same roll center position.

IMPORTANT IMPORTANT

IMPORTANT IMPORTANT

Use from #360900 Use from #360900

Use from 
#360900

Use from 
#360900

ALU from 
#360900

ALU from 
#360900

ALU 7º from #360900 ALU 7º from #360900

COMPOSITE COMPOSITE

COMPOSITE COMPOSITE

2mm 2mm

STEERING BLOCKS

#362250 MEDIUM OPTION
#362250-H HARD OPTION
#362250-G GRAPHITE OPTION

STEERING BLOCKS

#362250 MEDIUM OPTION
#362250-H HARD OPTION
#362250-G GRAPHITE OPTION

C-HUBS
#362210 RIGHT 9° - M OPTION
#362210-H RIGHT 9° - H OPTION
#362210-G RIGHT 9° - G OPTION
#362211 RIGHT 6° OPTION
#362220 LEFT 9° - M OPTION
#362220-H LEFT 9° - H OPTION
#362220-G LEFT 9° - G OPTION
#362221 LEFT 6° OPTION

C-HUBS
#362210 RIGHT 9° - M OPTION
#362210-H RIGHT 9° - H OPTION
#362210-G RIGHT 9° - G OPTION
#362211 RIGHT 6° OPTION
#362220 LEFT 9° - M OPTION
#362220-H LEFT 9° - H OPTION
#362220-G LEFT 9° - G OPTION
#362221 LEFT 6° OPTION

ALU C-HUBS
#362234 ALU RIGHT 12° OPTION
#362244 ALU LEFT 12° OPTION

ALU C-HUBS
#362234 ALU RIGHT 12° OPTION
#362244 ALU LEFT 12° OPTION

902310
SH M3x10

902310
SH M3x10

902310
SH M3x10

902310
SH M3x10

940510
BB 5x10x4

940510
BB 5x10x4

940510
BB 5x10x4

940510
BB 5x10x4

940512
BB 5x12x4

940512
BB 5x12x4

940512
BB 5x12x4

940512
BB 5x12x4

303123-K
SHIM 3x6x2

303123-K
SHIM 3x6x2

902312
SH M3x12

902312
SH M3x12

902312
SH M3x12

902312
SH M3x12

903306
SFH M3x6

903306
SFH M3x6

2x 2x

3x12mm 3x12mm

3x12mm 3x12mm

3x10mm 3x10mm

3x10mm 3x10mm


